Instrument Transpositions

Here is the CORE ISSUE: when some instruments play a (written) C, you hear a C. When
other instruments play a (written) C, you DO NOT hear a C. This is why some instruments are
called Bb instruments, F instruments, Eb instruments, and so on (see the next page for details).

When someone plays a (written) C on one of these instruments, you HEAR a Bb or an F or an Eb
or whatever. In these cases, what is written is called the WRITTEN pitch, and what you actually
HEAR is often called the CONCERT pitch--hence, “concert Bb* or whatever.

In most cases, what you HEAR when a Bb, F, Eb, A, or G instrument plays a melody
sounds LOWER than what you SEE--the concert pitch is lower than the written pitch.!

Some common transposing categories and what they mean

Bb instruments: most all of these sound a M2 lower than what’s written.
When you see this: you hear this:

F instruments: most all of these sound a P5 lower than what’s written.
When you see this: you hear this:

Eb instruments: most all of these sound a M6 lower than what’s written.
When you see this: you hear this:

A and G instruments: these are pretty rare, but you still need to be aware of them. A
instruments sound a m3 lower than what’s written. G instruments sound a P4 than what’s

written.
-Writing for transposing instruments

Most of these instruments sound lower than they are written. Consider this: if you want a Bb
trumpet to play something which sounds like a B> (BP concert pitch), you actually have to wrife
a C a M2 higher. When the trumpet player plays this C, you will hear the Bb a M2 lower. More
generally, if you’ve got some tune and you want it to sound in some particular key, then you have
to write it a M2 higher if a Bb instrument will be playing it. If an F instrument will be playing it,
then you have to write it a PS5 higher for it to sound where you want it. If an Eb instrument will be

playing it, then you have to wrife it a M6 higher. If an A instrument will be playing it then you
have to write it a m3 higher. If a G instrument will be playing it then you have to write it a P4

higher.
So, when figuring out an instrument’s transposition level, consider all of the following:

* Are you starting out from the concert (heard) key or the written (seen) key?
¢ What “direction” are you thinking--from written to sounding, or vice versa?
»  What is the specific interval of transposition involved (size, quality, direction)?

IThere are a few exceptions to this rule. For example, the Eb “soprano” clarinet sounds a
m3 higher than what’s written. Learn these few instruments as exceptions to the “rule.”
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